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Topic :-SEQUENCES AND SERIES

1. Ifa,b,c d, e, f arein AP, then the value of e — c will be
a)2(c—a) b)2(f — d) c)2(d—oc) d)d—c

2. Ifthe pth, gthe and rth term of a GP and HP are a, b, ¢, then a(b — ¢)
loga + b(c —a)logb + c(a — b)logc is equal to
a) —1 b)0 a1 d) Does not exist

. pe s . 1 1 1
3. The sum of infinite terms of the series EDED) + Zr0G+a + GroG+a +...4+ to

o0, where a is a constant, is

b)

2
1+a

AT c) oo d)None of these

4. The number of real solutions of the equation log( —x) = 2 log(x + 1), is
a)o b)1 c) 2 d)4

5. The value of 0.423, is
419 419 423

a) 599 b) 550 ) Tooo d) None of these

6. The value of the sum Y;—1 Y5-1 S, 2"3%, whereS,; = 0, if r # sandS,s =1, ifr =s, is

a) &2 b)2(6" — 1) o d)3(s"—1)

n+1

7. a,b,c,d,eare five numbers in which the first three are in A.P. and the last three are in H.P. If the
three numbers in the middle are in G.P., then the numbers in the odd places are in
a) AP b)G.P. c) H.P. d) None of these

8. The sum of the series 2[77 1+ 371773 + 571775 +..]is
a) log, (%) b)log, G) c) 2log, (Z) d)2log, (%)

9. An AP consists of 23 terms. If the sum of the three terms in the middle is 141 and the
sum of the last three terms is 261, then the first term is
a) 6 b)5 c) 4 d)3

10. If2x 2243 x23+4 x 2% +..+nx2"=2""10 thenn =
a) 510 b)512 c) 513 d)508
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11. Aninfinite GP has the first term 'x’ and sum 5, then x belongs to
a)x < —10 b) —10<x<0 Q) 0<x<10 d)x < 10

12. If x = —2, then the value of log, (xzz) —2log, 4(x%), is
a)2 b) —4 Q) —6 d)0

log3  log5 log7

+yey+zrztx _
13. If 2 = 5 = 25 then 3* /5y 2724 =

a)o b)2 a1 d) None of these

14. Yn=1Xl_; Zl_; is equal to

2
a) 4n(n + 1)6(2n +1) b) [n(n 2+ 1)] J n(n+ 1) d)n(n + lé(n +2)

2 4 6 ,
15. 57+ + 5, +..isequalto

a) e1/2 b) 6_1 C) e d) e—1/3
16. 1f S, = — ! ! hen 6S 1
. n= 611 + 1116 + 1621 +...to n terms, then 65,, equals
sn—4 n 2n—1 1
a) 5n+6 b)(5n+6) <) 5n+6 d)(5n+6)

17. Iflog (x —y) —log5 —%logx—%logy =0, then§+%:
a) 25 b) 26 c) 27 d)28

18. Iflog, x,logy x,log, x are in A.P., where x # 1, then ¢? =
a) (ab)logab b) (ac)logab C) (ab)logba d) (ac)logba

19. If a¥/* = p1/Y = ¢'/Z and a,b,c are in geometrical progression, then x,y,z are in

a) AP b) GP c) HP d) None of these
- 4. . 1—2x—x*,
20. The coefficient of x* in the expansion of o~ is
1—k—k? K +1 1—k 1
DT b= ) Va
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